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loU (Jaccard) = TP/(TP+FP+FN)

Precision = TP/(TP+FP)
Recall = TP/(TP+TN)
F1(Dice) = 2/{1/Precision + 1/ Recall} = 2TP/(2TP+FP+FN)
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Intersection-over-Union (lolU) = —————_—_—_—
(Jaccard index) ‘
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Intersection-over-Union (loU) =

(Jaccard index)
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Intersection-over-Union (loU) = =—————————————
(Jaccard index) | A L B|
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Seorensen-Dice index =

Simpson coefficient =

(Overl fficient) :
m\i,:: ba}Z :,?oilj\;?\:‘z;?; mln{ |A| ) | B | }



iy~ == A il

2DODERICEWT, —EHrHEBEERDIZH

loU < Dice < Simpson
2O0%EAD, EEa0Es |[AUB| =0
loU = Dice = Simpson =0

2DODEBICEWVWT, —OhflIcERICEETFN D (BEEfDESR) DES

loU # 1, Dice # 1, Simpson = 1
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Intersection-over-Union (loU) = = — =20.1
(Jaccard index) AUB 100
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|A‘ + B| 100 + 10
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Simpson coefficient —

min{|A[,|B|} = min{100,10}

— = 0.182
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PSNR
SSIM
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PSNR: Peak Signal-to-Noise Ratio
(E—7E5X M ELL)

\
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MSE: Mean Square Error (33 _F:5ZE)
MAX: BIREDRK. 8EY Mi5255







SSIM: Structural Similarity

(T & 2R 1LUE)

\
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SSIM (2. 1)) =
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SSIM (Structural Similarity Index) O ZTeXTRIEITDELITD LS
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\text{SSIM}(x, y) = \frac{{(
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